
24

3-^^^ (found by combining (1) and (2) for r, simplifying and

reducing,

AH becomes = 1 (?±oos^ ^
6 COB ^

and HO becomes = ^ (^Z^os 2^)

6 sin^ J

•- = equation (4)

Keferring to Fig. (1)

AB = AH+HB:. An+ OEi^nU equation (5)

To find the length of transition curve itself:—
the formula for a diflFerential of the curve is

*.
. dL =

dL = ^J{dcy + c? (doy

but by (ft) (dt^y = jLj^

m dc

m^-c*

slni'

»C , „ -1 4 1== = m (m^ - c*) ^ dc^ /I -i:\~2 rfc

expanding by the Binomial Theorem

V 2m^^8m-) rfc

integrating. ^ = c .^^ ,^^ .,,„,«„„ (,^

wheom = 1031337, (the number ohcen in makingupehe table)
;

jj^
the second term in the above series = i_ of a foot when'


